Date From :	01/04/2023 T	o: 31	/03/2024	Exch	ange: All	All Book Type : All							o.: 380	
Dur Data Caria Cala	Scrip Name	No. of	Short Term - Long Term - Speculation Details											
Buy Date Scrip Code	Scrip Name	Days	Quantity	Cut off Rate	+ Net Rate	+ Bought Total	- Net Rate	- Sold Total	Sold Dt	Short Term	Long Term	Long Term (Tax)	Speculation	
Client Code : B3	37471	Clier	nt Name :	BHANWA	ARLAL MAH	IESHWARI			Term	Code E	337471	Br Co	de B37	
31/08/2023 43972	AEROFLEX INDUSTRI	20	1250		171.1610	2,13,951.28	155.0579	1,93,822.40	20/09/2023	-20,677.03				
21/09/2023 43972	AEROFLEX INDUSTRI	46	600		155.1550	93,093.00	164.0358	98,421.48	06/11/2023	5,061.74				
Bought Quantity :		1850	Sold Quantit	y :		1850 Os P	urchase Qty :		-	Os Sa	iles Qty :			
Bought Amount :	3,07	,044.28	Sold Amoun	t :	2,92	2,243.88 Os P	urchase Value :			Os Sa	iles Value :			
Short Term PL :		,615.29	Long Term I	PL :		Spec	ulative PL :			Long	Term (Tax)			
ISIN Code :	INE024001021	1	1		1				1	1	1	1	1	
12/02/2024 44111	APEEJAY SURRENDR	0	200		183.0183	36,603.66	218.7199	43,743.97	12/02/2024				7,124.45	
Bought Quantity :			Sold Quantit	-	4		urchase Qty :				iles Qty :			
Bought Amount :	36	,603.66			4.		urchase Value :		7.10		lles Value :			
Short Term PL : ISIN Code :	INE988S01028		Long Term I	Ъ.		spec	ulative PL :		7,12	4.45 Long	Term (Tax)			
17/01/2024 32977	BAJAJ AUTO LTD	62	1	3,379.1500	7,154.9979	7,155.00	9,985.0000	0.085.00	19/03/2024					
Bought Quantity :	DIMA AUTO LID		Sold Quantit		7,104.7779		urchase Oty :	9,985.00	17/05/2024	Oc So	iles Qty :			
Bought Amount :	7.		Sold Amoun	-	9		urchase Value :				iles Value :			
Short Term PL :		, ,	Long Term I	PL :		Spec	ulative PL :			Long	Term (Tax)			
ISIN Code :	INE917I01010							_						
06/02/2024 44107	BLS E-SERVICES LIMI	0	150		305.0305	45,754.58	359.7640	53,964.60	06/02/2024				8,174.39	
06/02/2024 44107	BLS E-SERVICES LIMI	1	50		305.3050	15,265.25	376.7229	18,836.15	07/02/2024	3,522.95				
Bought Quantity :		200	Sold Quantit	y :		200 Os P	urchase Qty :			Os Sa	iles Qty :			
Bought Amount :	61,	,019.83	Sold Amoun	t :	72	2,800.75 Os P	urchase Value :			Os Sa	iles Value :			
Short Term PL :	3,	,522.95	Long Term H	PL:		Spec	ulative PL :		8,17	4.39 Long	Term (Tax)			
ISIN Code :	INE0NLT01010		1		1				1		1	1		
02/11/2023 44012	CELLO WORLD LIMIT	4	322		648.0000	2,08,656.00	792.2070	2,55,090.65	06/11/2023	46,104.08				
Bought Quantity :			Sold Quantit	-	2.5		urchase Qty :				iles Qty :			
Bought Amount : Short Term PL :					2,3.		urchase Value :				iles Value :			
ISIN Code :	INE0LMW01024		Long Term I	·L .		spec	ulative PL :			Long	Term (Tax)			
17/01/2024 85	CHAMBAL FERTILISE		98	162.4500	384.0837	37,640.20	449.5500	44.055.90	06/02/2024					
17/01/2024 85	CHAMBAL FERTILISE			162.4500	384.0837	1,54,401.65	353.8958	1,42,266.11		-12,542.94				
04/03/2024 85	CHAMBAL FERTILISE			162.4500	354.9546	1,42,691.75	344.6550		27/03/2024	-4,527.95				
Bought Quantity :							urchase Qty :	-,,			iles Qty :	_		
Bought Amount :	3,34	,733.60	Sold Amoun	, ,	3,24		urchase Value :				iles Value :			
Short Term PL :	-17	,070.89	Long Term H	L:		Spec	ulative PL :			Long	Term (Tax)			
ISIN Code :	INE085A01013													
02/06/2023 33278	COAL INDIA LTD	10	880	304.1500	226.7766	1,99,563.41	228.9209	2,01,450.39	12/06/2023	1,366.51				
Bought Quantity :		880	Sold Quantit	y :		880 Os P	urchase Qty :			Os Sa	iles Qty :			
Bought Amount :	1,99	,563.41	Sold Amoun	t :	2,0	1,450.39 Os P	urchase Value :			Os Sa	iles Value :			
Short Term PL :		,366.51	Long Term I	PL :		Spec	ulative PL :			Long	Term (Tax)			
ISIN Code :	INE522F01014													
24/08/2023 31599	FDC LIMITED	19	2	237.0500	387.4371	774.87	492.5000	985.00	12/09/2023					
24/08/2023 31599	FDC LIMITED	112	8	237.0500	387.4371	3,099.50	406.0935	3,248.75	14/12/2023	111.78		<u> </u>		
Bought Quantity :			Sold Quantit	-			urchase Qty :				iles Qty :			
Bought Amount :			Sold Amoun				urchase Value :				lles Value :			
Short Term PL : ISIN Code :	INE258B01022	111./8	Long Term I	L.		Spec	ulative PL :			Long	Term (Tax)			
		-	2000	40.0500	21 7010	05 245 40	26 4202	1.00.200.20	25/01/2024	12 655 24				
18/01/2024 185	HINDUSTAN CONSTR	7	3000	40.0500	31.7818	95,345.40	36.4302	1,09,290.70	25/01/2024	13,655.34				

^ - Indicates Corporate action Trade.

Date From :	01/04/2023 T	o: 31	/03/2024	Excha	ange: All	nge : All Book Type : All							Report No. : 380		
		No. of		Short Term - Long Term - Speculation Details											
Buy Date Scrip Code	Scrip Name	Days	Quantity	Cut off Rate	+ Net Rate	+ Bought Total	- Net Rate	- Sold Total	Sold Dt	Short Term	Long Term	Long Term (Tax)	Speculation		
Client Code : B3	37471	Clie	nt Name :	BHANWA	RLAL MAH	ESHWARI			Term	Code B	37471	Br Coo	le B37		
Bought Quantity :		3000	Sold Quantity		1.00		urchase Qty :				es Qty :				
Bought Amount : Short Term PL :		,345.40 655.34	Sold Amount		1,09		urchase Value : ulative PL :				es Value : Ferm (Tax)				
ISIN Code :	INE549A01026	,055.54	Long Termi	L .		Spec				Long					
20/12/2023 44044	INDIA SHELTER FINA	27	500		565.0645	2,82,532.25	572.0674	2,86,033.68	16/01/2024	2,743.51					
Bought Quantity :		500	Sold Quantit	y :		500 Os P	urchase Qty :			Os Sal	es Qty :				
Bought Amount :	2,82,	,532.25	Sold Amount	::	2,86	6,033.68 Os P	urchase Value :			Os Sal	es Value :				
Short Term PL :		,743.51	Long Term P	'L :		Spec	ulative PL :			Long T	Ferm (Tax)				
ISIN Code :	INE922K01024	_													
24/08/2023 42726	INDIAMART INTERME	18	1		3,147.3442	3,147.34	3,985.0000	3,985.00	11/09/2023						
Bought Quantity :	_	1			3		urchase Qty :			Os Sal					
Bought Amount : Short Term PL :	3,	,147.34	Sold Amount		3	001	urchase Value : ulative PL :				es Value : Ferm (Tax)				
ISIN Code :	INE933S01016		Song ronn r			Spec	and the fill .			Long					
08/12/2023 41956	IRCON INTERNATION	3	1200		159.2091	1,91,050.92	162.7871	1,95,344.52	11/12/2023	3,768.98					
Bought Quantity :		1200	Sold Quantity	y :		1200 Os P	urchase Qty :			Os Sal	es Qty :				
Bought Amount :		,050.92	Sold Amount		1,95	6,344.52 Os P	urchase Value :			Os Sal	es Value :				
Short Term PL :		,768.98	Long Term P	L :		Spec	ulative PL :			Long T	Ferm (Tax)				
ISIN Code :	INE962Y01021														
20/07/2023 43940	JIO FINANCE SERV LT				132.9431	11,831.94	229.4703		20/09/2023	8,546.99					
21/09/2023 43940 21/09/2023 43940	JIO FINANCE SERV LT				230.2300 230.2300	11,511.50	217.6721 239.8599	10,883.61	06/11/2023	-675.93 352.43					
07/11/2023 43940	JIO FINANCE SERV LT	88 41	40 50		230.2300	9,209.20 10,900.89	239.8399		18/12/2023	1,051.99					
Bought Quantity :	SIGTING CE SERV ET	229		y -	210.0170		urchase Qty :	11,775.00	10/12/2025	Os Sal	es Otv :				
Bought Amount :	43,	,453.53	<u> </u>		52		urchase Value :				es Value :				
Short Term PL :	9,	,275.47	Long Term P	L:		Spec	ulative PL :			Long T	Ferm (Tax)				
ISIN Code :	INE758E01017														
24/08/2023 30813	K R B L	19	4	624.3000	414.7143	1,658.86	496.2500	1,985.00	12/09/2023						
24/08/2023 30813	KRBL	21	6	624.3000	414.7143	2,488.29	421.3283	2,527.97	14/09/2023	14.19					
Bought Quantity :			Sold Quantit		А		urchase Qty :				es Qty :				
Bought Amount : Short Term PL :	4,	,147.14 14 19	Sold Amount		4		urchase Value : ulative PL :				es Value : Ferm (Tax)				
ISIN Code :	INE001B01026	17.17	Long I Chill P	L .		Spec	anative I L .			Long					
31/08/2023 510	LARSEN & TOUBRO	11	4	1,438.4000	2,696.4938	10,785.98	2,906.8625	11 627 45	11/09/2023	789.11					
31/08/2023 510	LARSEN & TOUBRO	27		1,438.4000	2,696.4938	1,77,968.59	3,196.8000		27/09/2023						
Bought Quantity :			Sold Quantity	·			urchase Qty :			Os Sal	es Qty :				
Bought Amount :	1,88,	,754.57	Sold Amount	::	2,22	2,616.25 Os P	urchase Value :			Os Sal	es Value :				
Short Term PL :		789.11	Long Term P	L:		Spec	ulative PL :			Long T	Ferm (Tax)				
ISIN Code :	INE018A01030														
04/05/2023 999801	MANKIND PHARMA L	5	182		1,080.0000	1,96,560.00	1,298.7000	2,36,363.40	09/05/2023	39,514.17					
Bought Quantity :			Sold Quantit		2.24		urchase Qty :				es Qty :				
Bought Amount :		,560.00 514.17			2,36		urchase Value :				es Value :				
Short Term PL : ISIN Code :	39, INE634S01028	,314.1/	Long Term P	L .		Spec	ulative PL :			Long	ferm (Tax)				
06/02/2024 31540	MARUTI INFRA	1	800	31.9000	172.3274	1,37,861.90	177.6722	1,42,137.76	07/02/2024	3,569.15					
	l	I								,	I				

Date From :	01/04/2023 T	o: 31	/03/2024	Exch	ange : All	All Book Type : All							Report No.: 380	
		No. of	Short Term - Long Term - Speculation Details											
Buy Date Scrip Code	Scrip Name	Days	Quantity	Cut off Rate	+ Net Rate	+ Bought Total	- Net Rate	- Sold Total	Sold Dt	Short Term	Long Term	Long Term (Tax)	Speculation	
Client Code : B	37471	Clie	nt Name :	BHANWA	ARLAL MAH	ESHWARI			Term	Code B	37471	Br Co	de B37	
Bought Quantity :	1.07	800		-	1.42		irchase Qty :				es Qty :			
Bought Amount : Short Term PL :		861.90 569 15	Sold Amount		1,42		Irchase Value : Ilative PL :				es Value : Ferm (Tax)			
ISIN Code :	INE392G01010	007.10	Long round	2.		Speed				Dong	(101)			
21/02/2023 39126	MEP INFRASTRUCTU	300	145	91.9000	14.7100	2,132.95	12.3377	1,788.97	18/12/2023	-368.13				
Bought Quantity :		145	Sold Quantit	y :		145 Os Pu	Irchase Qty :			Os Sal	es Qty :			
Bought Amount :	-		Sold Amoun		1		irchase Value :				es Value :			
Short Term PL : ISIN Code :		368.13	Long Term F	PL:		Speci	ilative PL :			Long	Ferm (Tax)			
		11	2800	22 5000	24.0450	1 20 274 26	26 4625	1 28 5(1 20	20/01/2024	0.010.02				
18/01/2024 32649 18/01/2024 32649	NECTAR LIFE	11	3800 1000	33.5000 33.5000	34.0459 33.8338	1,29,374.36 33,833.80	36.4635 37.7622	1,38,561.30	29/01/2024 02/02/2024	8,818.93 3,813.32				
18/01/2024 32649 18/01/2024 32649	NECTAR LIFE	13	2500	33.5000	33.6431	84,107.70	36.9163	92,290.83	02/02/2024	7,932.54				
Bought Quantity :		7300					urchase Qty :	, , ,			es Qty :			
Bought Amount :	2,47,	315.86	Sold Amoun	-	2,68		irchase Value :				es Value :			
Short Term PL :	20,	564.79	Long Term F	PL:		Speci	ilative PL :			Long	Ferm (Tax)			
ISIN Code :	INE023H01027													
19/01/2024 33098	NHPC LTD	6	2750	29.9500	71.1211	1,95,583.03	83.2212	2,28,858.43	25/01/2024	32,709.18				
Bought Quantity :	1.05	2750		-	2.28		Irchase Qty :				es Qty :			
Bought Amount : Short Term PL :		583.03 709.18	Sold Amount		2,20	0011	archase Value : alative PL :				es Value : Ferm (Tax)			
ISIN Code :	INE848E01016	, 0, 10	Long rount	2.		Speed				Long	(1)			
24/08/2023 302	PIRAMAL ENTERPRIS	19	48	2,785.9000	1,069.0680	51,315.26	1,248.7500	59,940.00	12/09/2023					
24/08/2023 302	PIRAMAL ENTERPRIS	21	132	2,785.9000	1,069.0680	1,41,116.98	1,063.9350	1,40,439.42	14/09/2023	-1,067.99				
Bought Quantity :		180	Sold Quantit	y :			urchase Qty :			Os Sal	es Qty :			
Bought Amount :		432.24	Sold Amoun		2,00		irchase Value :				es Value :			
Short Term PL : ISIN Code :	-1, INE140A01024	067.99	Long Term F	PL:		Speci	ilative PL :			Long	Ferm (Tax)			
19/07/2023 325	RELIANCE INDUSTRI	0	40	964.9000	2,823.2823	1,12,931.29	2,837.7662	1 13 510 65	19/07/2023				489.20	
19/07/2023 325	RELIANCE INDUSTRI	0		964.9000	2,823.2823	2,52,819.17	2,840.6648		20/07/2023	-92.42			467.20	
20/07/2023 325	RELIANCE INDUSTRI	35	21	964.9000	2,710.7015	56,924.73	2,522.8247		23/08/2023	-4,010.12				
20/07/2023 325	RELIANCE INDUSTRI	63		964.9000	2,706.8014	1,84,062.50	2,380.6405		20/09/2023	-22,399.46				
24/08/2023 325	RELIANCE INDUSTRI	27	21	964.9000	2,498.9965	52,478.93	2,380.6670	49,994.01	20/09/2023	-2,624.89				
21/09/2023 325	RELIANCE INDUSTRI	46	90	964.9000	2,377.3250	2,13,959.25	2,335.2624	2,10,173.62	06/11/2023	-4,367.55				
07/11/2023 325	RELIANCE INDUSTRI	41	90	964.9000	2,330.4521	2,09,740.68	2,525.2944	2,27,276.50	18/12/2023	16,941.31				
Bought Quantity :			Sold Quantit	-		(2)(0)	Irchase Qty :				es Qty :			
Bought Amount :			Sold Amoun		10,68		irchase Value :		40		es Value :			
Short Term PL : ISIN Code :	-16, INE002A01018	555.14	Long Term F	Г.		Speci	ilative PL :		48	7.20 Long	Ferm (Tax)			
26/09/2023 43989	SAI SILKS (KALAMAN	1	67		222.0000	14,874.00	230.7690	15,461.52	27/09/2023	546.68				
Bought Quantity :		67		y :	222.0000		Irchase Qty :	10,101.02			es Qty :			
Bought Amount :	14,	874.00			15		irchase Value :				es Value :			
Short Term PL :		546.68	Long Term F	PL :		Speci	ilative PL :			Long	Ferm (Tax)			
ISIN Code :	INE438K01021						<u> </u>				<u> </u>			
07/11/2023 570	TATA MOTORS	37	5	401.0000	646.2456	3,231.23	720.9284	3,604.64	14/12/2023	345.59				

Date From :	01/04/2023	To: 31/03/2024 Exchange: All						Book Type: All					Report No. : 380		
		No. of		Short Term - Long Term - Speculation Details											
Buy Date Scrip Code	Scrip Name	Days	Quantity	Cut off Rate	+ Net Rate	+ Bought Total	- Net Rate	- Sold Total	Sold Dt	Short Term	Long Term	Long Term (Tax)	Speculation		
Client Code : B	37471	Clier	nt Name :	BHANWAR	LAL MAH	ESHWARI			Tern	n Code B3	7471	Br Cod	le B37		
Bought Quantity :		5	Sold Quantit	y :			urchase Qty :			Os Sales	s Qty :				
Bought Amount :			Sold Amount		3		urchase Value :				s Value :				
Short Term PL : ISIN Code :	INE155A0102		Long Term P	L:		Speci	ulative PL :			Long Te	erm (Tax)				
07/11/2023 32540	TCS LTD	34	19	3,147.1000	3,396.3930	64,531.47	4,145.8500	78,771.15	11/12/2023						
07/11/2023 32540	TCS LTD	37	36	3,147.1000	3,396.3930	1,22,270.15	3,661.2851	1,31,806.26	14/12/2023	9,188.43					
Bought Quantity :		55	Sold Quantit	y :		55 Os P	urchase Qty :			Os Sales	s Qty :				
Bought Amount :	1,	,86,801.62	Sold Amount	t:	2,10	0,577.41 Os Pi	urchase Value :			Os Sales	s Value :				
Short Term PL :			Long Term P	PL:		Spec	ulative PL :			Long Te	erm (Tax)				
ISIN Code :	INE467B0102	9													
01/04/2019 40180	VARUN BEVERAGE	ES 0	33	697.9500	445.0000	14,685.00	445.0000	14,685.00	15/06/2023						
Bought Quantity :			Sold Quantity				urchase Qty :			Os Sales					
Bought Amount :		14,685.00	Sold Amount		14		urchase Value :				S Value :				
Short Term PL : ISIN Code :	INE200M0102	21	Long Term P	'L :		Speci	ulative PL :			Long Te	erm (Tax)				
19/05/2023 43463	VEDANT FASHIONS	5 L 3	165		1,203.2521	1,98,536.60	1,226.7720	2,02,417.38	22/05/2023	3,360.34					
Bought Quantity :		165	Sold Quantity	y :			urchase Qty :			Os Sales	s Qty :				
Bought Amount :	1,	,98,536.60	Sold Amount	t:	2,02	2,417.38 Os P	urchase Value :			Os Sales	s Value :				
Short Term PL :			Long Term P	PL:		Spec	ulative PL :			Long Te	erm (Tax)				
ISIN Code :	INE825V0103	4													
15/06/2023 7685	WIPRO	18	379	308.9500	395.3450	1,49,835.76	444.5550		03/07/2023						
15/06/2023 7685	WIPRO	29	111	308.9500	395.3450	43,883.30	399.4002	44,333.42	14/07/2023	336.14					
Bought Quantity :		490	Sold Quantity		2.12		urchase Qty :			Os Sales					
Bought Amount : Short Term PL :	1,		Sold Amount		2,12	001	urchase Value : ulative PL :				s Value : erm (Tax)				
ISIN Code :	INE075A0102		Long Termit	L .		Speed				Long IC					
Final Total		-								1,40,810.97			15,788.04		
Capital Gain Type Total Buy Value					Total Se	ell Value		Overall Realized Gain/Loss			Total	Total Taxable Gain			
Long Term (More than 36)	5 days)														
Short Term (Less than 365			3	9,09,829.9	0	40),60,457.58	3		1,40,810.9	7		1,40,810.97		
Speculation (Intraday - No	Delivery)			1,95,289.5	3	2	2,11,219.22	2		15,788.0	03		15,788.03		

Disclaimer: For FAQs on taxation of long-term capital gains please visit www.incometaxindia.gov.in This report of realized capital gains/losses has been prepared based only on the transactions (both buy and sell legs) done by you through us as your broker using FIFO method. Transactions undertaken with any other broker(s), stocks not purchased through us/allotted under IPO, corporate actions in your holding etc. have to be accounted for by you separately. You should consult your own qualified accountant to compute and audit your realized capital gain/loss for the purpose of income tax or any other purpose considering the contract notes/bills, other documents supplied to you from to time as per the rules and regulations of exchange(s). or its employees/directors/authorized persons shall not be held accountable for any inaccuracy of this report.